1. Question: FFFTHIF HIFRT (CPU) - 97 @ I Nfifes Na S F15 $E?

A) (FTEIGR 93

B) FCETT 2616 (control unit)
C) (af3vG1a (516 (Register set)
D) 99735 (ALU)

Answer: D) 99728 (ALU)
Explanation: fSif5128- a7 © {6 312371 - - Control Unit, - Arithmetic Logic Unit (sTfafe Jfe @)

and - Memory/Register. - ALU (Arithmetic Logic Unit) 2% FETSEIET FIAFEICT T | - 93 9
S SNfAfeF 93 FTaE TROF F16 FE AF | TIT: FIF-77 CIA (S f9:) @16 33

2. Question: 936 (72) 2T AEF (NGA M6 o 2@, I 97 FAHSE T 2F - 97 SfEH (F1
(TGH & Te7?

A) AND
B) NOR
C) OR

D) Ex-OR

Answer: D) Ex-OR (Exclusive OR)

Explanation: 3% Ex-OR Gate 95 332 356 99 M1 133 3J, ©F AeF (NG AMSHIBA J o 2T |
©F RFG AT A & 2T S & 2|

3. Question: (F IMEB: NCEN 77?2

A) XENIX

B) DOS

C) CP/M

D)C

Answer: D) C

Explanation: - $ISBIF (T 9F6 DRI 97 A C, - ARG A3 FII6 FEHS6E

ST T FORTAN, BASIC, ADA, C++. SIlfa@, DOS, CP/M, XENIX 3onf% 2% arsmaite
NCo|

4. Question: FIOT NOIF [AET (FA6E TIEF O] IfT FIT FEI?



A) @ESTEFT TN & AFIEF FFIOHIF NEF
B) a3 f e Fer TiF oo IO

C) T @S (FIENf62 aF

D) FIZFFTAT SIfRwT ST FE=EH2 1T (W

Answer: C) SEF (FA1D2R a7
Explanation: FIGC NTOIET INTTo (J13183 2(% Elasticity & Scalability| - I T 2%, 93T

TOIES O TREFEIF TITANS IO FAE] I | - A FE, IF0E (TN TS 517 TS
ST OIS YT T2 IS T (S TSR Sfoie fHOIT 78 T 71| S[az NS 3FTF TSN

5. Question: IP-V6 ASY Fe FGa?

Ay
B) w3
C) s}
D) s3¥

Answer: B) @3 - v}

Explanation: - =R (@683 RO FIACT IPv4 97 32 IR ST AT I@ (= - 93
STESTST ST Sl IPv6 e 128 {5 STRf5 Smeest 51 @AM | - RBIHEG FEIFET TIEE SEsfod
NF T 3T - IPv6

6. Question: fAEF (FE 2 fEoRT?

A) Monitor

B) COM

C) Plotter

D) OMR

Answer: D) OMR (Optical Mark Recognition)

Explanation: OMR = Optical Mark Recognition

7. Question: YSAGCT N T FoSE oF@ Mg Fa7 IF?

A)zay o
B) 80>y &
C) 8328>vay



D) v¢qoy o
Answer: B) 80>y 6
Explanation: {98 (=16 3T 3¢ SR F-SEIE (PG §&F FAF Tl 20T IG T7720 27|

RTADTS [eT© X 126 AT VY G @G| 92 (PG TEE 1Y AT Lot AfFely foz@ g Fa1
T @2 BT 3 @M 3YfF, FT0T 3 T (14|

8. Question: ITIIG IAMEH: FFoEEF @@ AGT TG FIF?

A) aftg festrer 81

B) aft forensy F1efer frdT

C) aft e GIefFHa AR feeRET S (ofd
D) SoES TRSE SoF

Answer: B) aft o I forég

Explanation: The Android operating system is a mobile operating system that was developed
by Google to be primarily used for touchscreen devices, cell phones, and tablets.

9. Question: IARBAN (I0S) GIRTRT AN CHAL (FT ST TGS FE?

A) S2f3a%
B) 81T

C) MAF %6
D) Iy

Answer: D) 31515 (Apple)

Explanation: @ (T I AMEH: CHET AEITS 27 ©1WT T SEAFTST 2: - SSTEF
MBIG, - ATAETT SA23AN (I0S), - T TFHPEME, - NREFHHE SRS, - AHIF NI
(Symbian) 8 - STRSIRET IIGT

10. Question: EDSAC FFSH1E -2 TTb] RAFEF e fF 4@ (NHIF FI2F 2(01?

A) RAM

B) ROM

C) Registors

D) Mercury Delay Lines

Answer: D) Mercury Delay Lines



Explanation: EDSAC - Electronic Delay Storage Automatic Calculator: - F{ES fafIwe@a
sifie fAS1sE FEAF Maurice Wilkes 93 (F9(g 589 WIeT EDSAC FR-1S61a fsfler B 23
$585 NI AT® FXH (AT run FE| - 2996 IF R punched tape Tz© (@11 - 92 FETTEIET
G fRS&@ Mercury Delay Line tubes T59%w (@] - af6 aF% T FowwT FRIGHE|

11. Question: 3-3N Y126 amazon.com F© N JfoPe 2J?

A) Sddo ST
B) Sovw NI
C) S ST
D) $»»8 ST

Answer: C) S22 NI

Explanation: S - TRE A0 Jf6P6 2T S8 M| - AROT AfeSTeT TR (5%
@@ - 2004 T T 236 T[S 3TI ST AfARMFONT FIoT FRGH: 97 FITT BF
FE|

12. Question: 22 AW JUI F57%6 SMTP a7 FofF 572

A) Simple Message Transmission Protocol
B) Strategic Mail Transfer Protocol

C) Strategic Mail Transmission Protocol
D) Simple Mail Transfer Protocol

Answer: D) Simple Mail Transfer Protocol
Explanation: SMTP a3 s« Simple Mail Transfer Protocol. - 9% SGIFeIG 3G S-S

TIT© 2| - (T N (N2 ARE MO 27 (TSENE IR IT ARSHENR (I3 T 2F | - SMSHENTAR
(TR ST S5 92 AHTFeT 2T FAT 27|

13. Question: TCP @ (FH6 (FRITET 27?
A) (TS

B) &15T6

C) camsnifa

D) (ITG1ReT

Answer: D) (ITGIF (Protocol)



Explanation: Simple Mail Transfer Protocol (SMTP) is a TCP/IP protocol used in sending and
receiving e-mail. Source: ibm.com

14. Question: Push 332 Pop f6a 318 MY ==i{Fe?

A) Queue
B) Array
C) Union
D) Stack

Answer: D) Stack

Explanation: SB5I(&4 6 SN a1 AT A@®R | IN- Push 933 Pop. SBT& (G61 A1 J41 77
Push a3 SBII% 206 (GbT @ (FME 1 27 Pop.

15. Question: SAR-HTR (Wi- Fi) (FESIME SREEE & N fEORNT ST@TST AT (F1H{6?

A) SF ©1F

B) SISIfGaYI BRI
SR IGEREEII
D) G134 SRATT

Answer: A) 99 ©1F

Explanation: WiFi ag 1@5{ 3% Wireless Fidelity| - WiFi (3TR%1R) 0% STEET (S12) (NFTAT
AR @GR T3 I TR IZAQTT FPHCONET IO TN TS FOREG YT T I
BARHR QRN TIF TF HBEIH (@63 ST [I2E FATRF| - 97 SOISTE TN 912232
oR.OS

16. Question: SIFICT T BT FIHT -

A) gferer
B) 93T
C) wifeEafe a3

D) 3fBF Tl

Answer: C) SIfe@afa a3 (Supersonic rays)

Explanation: - ;& ofF 27 M7 7o Sreyeald sfowed @1 3B 2919 7777 I (@W 80 orRE
SIS TR (G| - ST FIHT SN TS Mol FIT ANF 72 AT FoH (572 DT Jof TSTINer
sfenfe 2319 55T fod fox Fred e foF fod AfFme (3@ I - 9% g IFASET M@ REqF



o7 fo7 TT I (band) (OfF TJI (B3 - SoF CIfAF s fFee1e)

17. Question: 3067 M:fFBwT (@R &1 fF@?

A) s g

B) =6 g

C) aF (F1FF (Ao tofdt®
D) REF affrs Ts=me

Answer: C) 9% (F131T (154 (oft®

Explanation: 6 936 Rars ST A3 A ST | - (FHIE 3 37 g 3T sRFfor® 26 970
27| - ATTT8 AF (FET (A (@dIte 56 TIT© 2| - 255 fSoINTTm I HIEEL 07T FITe

R | AT AW AFEEE (Ao ST F9ze 27| - TREF afFs 31 f$oiva ¥ S ame

3059 ITF (@21 T3 N: SIS, FIF-T (T |

18. Question: 54 (I TEF 35 AT IS~

A) T BT AFSIST
B) 51 ©IF aFSI5T
C) foa B aFeTsT
D) =¥ BI6F 43S

Answer: B) 519 ©T06IF AFeT5T

Explanation: (39 33(@ I ©1F (FCud @ (I I NFFT FE, O P I 35 J¢1| - Tt
(A T©2 TNE TI T TG 3 ©O2 FA(® AF | - IFCT 51 (I FFF 35 JRF© P T59 3&E
=T BIOE 9F BT (5/b) T - TR JI© (FF TIF 35T Yo TS5 2 5w D &FAeIa 85 vo
fTSoa 2@ | Y@z AT (TN TR @6 I3

19. Question: NHICE @S ASEE TRNF IoTFIEF (First line of defence) TFGS 77
@FEH?

A) TROTERY

B) shsf%a I

C) fferay

D) fCHIMRE
Answer: C) fsfery

Explanation: - IHICE (AT5T SFe@NY [Fol¥ AfoaH=ET [FCeeRe| - 9%, NSF gy, ey,



IS, T I, F, Ja TR, TS E e Fonfv sRifis afoawma| S35 MfafFesre, aFr-gmweT
cafer)

20. Question: T @0 ORI T o AI?

A) f&aqa 1 AFaFa AT

B) STa SIRTRA ToWE T:ATJf& FE
C) G568 T TS

D) FRETET AP

Answer: B) 84T SlARE JS8@E & FE

Explanation: SRACT 1T &8 - SRACT TS FF amG f2e7@ DNA 31 RNA A& | - (TS (FTEF
ASWE AT A& FI© M| - 70 (SHGP [HFHEPT Tor0 (W] NT| - SR HOG Towe
AT FFAT tof FAC© FF | - N Y& SIRACT JT SIRACIH (185 TSI WS A1} (6 SRAT ©IF
A SRATY T fate =M |

21. Question: ©I7 A& FTS -

A) THFEE SITe© FIRT
B) o1 famys fete Fones
C) gy 1fe@ Tfas+fere T e
D) orife@ EF oo F[8d

Answer: A) TEFIGE BIPIfee FRET

Explanation: ©T% Xf3d Srfe@ T e FTRES @1 T3 JI9-7% CIag e s 93
(2058 SRTF)

22. Question: e JINIE X0 (I5T F9© 2

A) o m/s

B) v5%0 mis

C) wex m/s

D)o

Answer: D) o - [}

Explanation: ST&3% ®IGT 1% 55100 & AT| ©12 [+ NIKTE 1 (I o | S, - Hloe AT =H
@ﬂﬂamﬁﬁmamﬁ/m FIAT TETE FIE T I wox /T - oF A& =g (5T
v8¢o 3./



23. Question: WP AW SIFFIY AU A/ CTRNETH TS (FT (FNEF ST FINS TR
FAE?

A) FRIFIIFS

B) AreTe1

C) afsfsrn

D) RCT-ARIIGEH

Answer: A) FRIRITF
Explanation: - SIEASEE SreIE REN-NRTIGEH 27| TR{fuP I/ CTR1T NFNEES ©FF TS| -

"Severe and prolonged iodine deficiency, may lead to a deficient supply of thyroid hormones.
This condition is referred to as hypothyroidism.

24. Question: fSazIES fF2

A) ST ST

B) 5193 ST Ao T
C) N8 I 7

D) FIGA (ofd 75

Answer: B) S8 SITIH ACTFe T

Explanation: 35 2159 J1 216S 2T AF6 FIGF 1 Ao NI 59 (T o
P ST 11 27| afG SreaT formael, S JT9917, a3 AH@ET A5 ST 357
for=el (R ST % 932 TS A0 IS Ty 5720 27|

25. Question: (FF6 TS T FI?

A) @fre
B) S
C) @ifaa
D) 2RI

Answer: B) a3
Explanation: - S 31 A% JFTEF [[AFHIT IS (F1AT IS 5131 (9T, ST, TP T 9T

REPES Tl FE| - TET [RAIFI A2 FE (T 3] O [<TOEF 3 IF TIE] S RHG© 27 B
JFP I



26. Question: YCFITIT [T & I 27?2

A) T 8 I
B) e
C) feg=e
D) o

Answer: A) fe89e 8 (375

Explanation: - (X fS{#T fAfFar 436 S Reifée 2@ gt FefFzmeT aftre 23 one e
3531 31 - S gfb OFReTa se@ms a3 ST tofd 2831 (7 S e [RfFE3 3@ - (e
T NS Jaod F11 - MSFNT Ho= ffFa R @ tefad fofe | - fFAsfFmna e
T3 R FE NFNARLF (@R a3 f&gs T =me F71 2371

27. Question: AT SCHA (FTT IO© T7?

A) w1 ErREsanst

B) ISAIEBA SMRE+ fShite
C) 2eIfeid (@1

D) Ffdvers fas-fomfamnme

Answer: A) SNHFTE SRS

Explanation: - 5»X W © - 38 I JREF S 75 FRER F8 & &fafxs-e 478t serem
Sefee 271 af T3 4fF8 Sewe e e - 78 31 4fHat Fowea + ¢ FfRe 27 IFAET
SR | aff S>> T AT WejfF® 27 a3k afb ey «fF8t Sowea e *fafes) - s v faat
SCRAT + S0’ [T T Tl ANfHFTH (SRIEHANS 2003 M| A6 FelT 4fF8t sewee ae *f&7fbe| -
38 31 4TS FEITT + 20’ A2 T FMEH HS-FEEAES(E 2053 M| a6 TOIT FEHTA AT
AfAC | SToR, T SfHfe 86 TRER 4fHST TCHT Aef[P© TA®R| (ARQ (F1 LT FEHT ©]
fAABSTE o (73, B2 SNAT S NCHeTa 4@ FMNEH F3-FoEEE W% Sor 47 faftn)

28. Question: IFFT 35 (FINF FIGI FF?

A) AT @
B) Ry @I

C) RIS 85F
D) (& 91T

Answer: B) {333 o1%

Explanation: - a%f6 3% (¥ =faene 37 qra1 JRAAT (Feua (F NP 27 ©IF ©F 38 I | - (FTAT



XT3 ANSINS FICIF 35T [TSTT | (T @ AfoFFS F7¢0 (@ (7 T I8F 35 (J| - (FF
AP g- A7 T [T AP (G (@1 ToAR GTF AT I3 384 @1 - A[F J¥IF (F0w g 97
T 75 RSTTY FFF 3T3 5| Tz ST (INF fJesry 37

29. Question: PSS ST B & =TT N2

A) 8o-¢o ®&T5T
B) Yo-90 ©TT
C) wo-3¢ BT
D) o-do ©IsT

Answer: A) 8o-¢o ®T5T (40-50 ©7197)

Explanation: J$fed STICTE SHATMRSE 2T - SR - ¥0% - 0%, - R - $9©%, - (AT - 0% |
ARTST fIOEH, R 8 MREES 5% AT ATF | ARN@E IRTNECT A NPheP ST FBIE=
AN 5¢% - 55% | T2 FIN-TH AT THIN (16 I3 |

30. Question: B MO (FH febINa ATF?

A) febifa 2
B) fetIfse (&
C) fetifaie a
D) febife T Fofes

Answer: A) fSBIf*& 2 (Vitamin E)

Explanation: - 51 *Te1, 337 *nferce fSEIE T 7@ 4@ | - MEHIfE, Woedier 93 2B JF
IS (O [SBIRE-2 TSI JF| - YIS TFHI, [Hoe 4 FSOINa-(F 97 T TN | - NS (o,
Y, ] T, M MY AT SO WIS fSo1a-0 @1 T35z SR, Fq-777 (e |

31. Question: BRICS a9 Jwq w39 (F1NF?

A) Bea SRER
B) Tt

C) faGifaan

D) SmawdF 913

Answer: B) FIfadt

Explanation: - Yoo ST L& (F {55 (BRICS) sifdw 31 - aft 93f6 srftafes 61 - aifde,
TR, O, B 8 wiEpT A 93 ¢t ShmTe o ifes (71 @ sifde =3 Fa71 - wie s



205 NI (AW FAE BRIC (A& A0 FT 27 BRICS | - 97 (FIET ST (A2 ©& (& (W07
NERAS 2, (72 (7T (@ SFRSTE F1S AT 91 2F | - BRICS a7 TN Sfefde IpRF 2@
NDB (New Development Bank)| I:F6F Tvawagd 950 Sieid SRIR TR | O35 fFFeia
STIRG |

32. Question: SDR (Special Drawing Rights) ST ST6E &y @ W IMF 95 IO
(Articles) SRUTH FHT TIM®eA?

A) 539
B) 9%
C) v»9¢
D) bb»

Answer: A) b29% (1978)

Explanation: - RT38 SaG® &Nl JISET 9@ IMF-a7 afeis #13 Special Drawing Rights 519w |
- Special Drawing Rights 93 S[fIT ST6@ Tely IMRAFAT DD HE SToq0d SONET FEMRA| - 93
FIES TONT O A6 2E - MF GO, 2OET, FFHT MO, Sfey 3@ a3 Sl 287w | O3 :
AFHNOF JuT SRIETT SHINRG |

33. Question: IRTACTH fVafeIfe (SRS A& (F1 (ST fof o (Low land) ST TTEE
@fr?

A) 2573
B) (STT=TTeTsTa

C) 3313
D) fFrT=sa

Answer: B) (SITe15T3

Explanation: - SNTCTE FRT folel Sf3 RfE@ S - FRET, SR, SIasd, (STesrs (Sl
A T IFET T IG | - IRTACTT TIEE o SFFSET Tefiero 208, e 932 A1 9579 fam
S| - SIFEFTRT T8F 93% 3T Tt e, FeTasta 932 (Fae (31 3S AJ¥e | Source:
bbs.gov.bd

34. Question: IRTCI GIEfON FaI (FF6?

A) TR
B) T[T
C) s
D) 3rH4T



Answer: C) =4[

Explanation: - ST7@4 715 (¥(& IGNISTH =G T 3 (NHATF f3ifer© LT 1 (VA7 - S 5H T
TR AT 2T THAE Tl | - (ST SHHIPTN ITRIH (AT IEATSET WY fifere @@ - afb
IRCCTT STSIF 8 TTION Tt AT AATON I3 3 I Fal | @ : FETNF GOoIeT, TIA-T (4T 97
STOIY B G| - IRAFHGIE 5T SAqIR, IR JET STAN-GEAT T 0l 90 FETINGTE,
TR - T Farg s 290 FENRoE|

35. Question: IRACCIE (F1F FPT @1 AFITIA?

A) SeF-F STl
B) wfdFel-7& 1%t
C) ufFef-ex orzpet
D) Sag-A6x arzpe

Answer: A) S3F-7F oI

Explanation: - IR &1 STEFT 2916656 (BRRI) 378 SN (M0TH o -A6aeee (af
FREFA| - S RPN AT RIS ST I FAR ARTNRIG SF YFEFIS AFET AFTGS |

36. Question: IRATCCTH (FT FPETF AT I fei7gel, iy [T 3 TG (FCDI) FT=0r YF &P
FloTd TA®?

A) BT e or%peT
B) ST STG S1%e

C) TPty S%eT

D) @4 APT
Answer: B) ST TG 9
Explanation: - 351 {433, faga 8 (& 5F9 (Flood Control, Drainage and Irrigation Projects)

AE G-I FIAET AF6 ISP FITE IRTCTH (SIS ATFT FHIEF 0% AeHT I3
Fafere T |

37. Question: IRAICT AHF FHTE TG RS G (FH CHIE (FF6 Fa7123?

A) S&TsT

B) (&%
C) FHIE
D) ST



Answer: B) (Ga1%

Explanation: - T I1¥@ 5TG 3@ E1 85 wo I, T ST E W SRefey SAmisia
AF S @owo Y 97 AT (SRITIF TAGEE) TS I b8oo Bif| - IRATWCT NETE (R Te
H(G @ A2 TENNE | - (FHEIF (CATfE SEARISI3 (SeTd RIed S (@ T Sed @ 71a s
{5 7 S| (CATsfEte AR ST FrRMNred A1 75 F5E= @, Sovro B Te:
FRASAT

38. Question: fAEE @@ FAPFH 3% FAPEF 1 (CTF SR T =er F@ 12

A) ST

B) Se[utie
C) T%wel
D) QIR

Answer: B) S[utTe

Explanation: SJRSIF N3 S1%d S 432 79 97| 97 (FTE] APE SF 33 (FIEAT 9% TroeT |
A FIET 3 IR AT (FIET 3 FRI|

39. Question: fAEa @@ WG (Hazard) S TqEF JQF THF FTH?
A) TGS G

B) O $ 8 ALy AR
C) =19
D) Sy 73T

Answer: A) NG3 TEGAT

Explanation: - {908 sfeq=a WSS S21 JT[F ST 17 FYGICTT S| - 09 Ir5 177 /o {0y
SRS (NG PO AT b S S Il JIAT I TIGICF B | - RG] IYGICE BT AT AT
TG ST 2.5 T2H I AR - WG ST SN IYIC 7 T 73+ G817 T1feF
Y QY FIFA| (a2 TP 13T 8 Hei6 WiAF)

40. Question: ST& JRTST TFIFAT (F°4 (FINT IS T2

A) FTEIG
B) Fe(3T
C) G131
D) g fafe



Answer: A) W@

Explanation: X054 ST SFE I9NT 15T T (34 (SAARC Disaster Management Centre
(SDMC) 8% II=fers 131 S rafefde 27| 97 TOq Tuawed - 85416, ©lFw | 8% N
SR TR - ) W GRS [T (F (7377 ), }) T NT28TT (774 (B1F7), ) W 39 @4 ()
3 8) STTEF TAFAT AP AT (F74 () | TE, TSN &NEF 85 AR T (R05b T (V) |
T35 Live MCQ content (Upcoming) 8 ST S@ISTIRG |

41. Question: (@1 T TR HfS FeTI FT 27?2

A) ST T
SEREERIC
C) Todel AT

D) Sad™a =1

Answer: B) 81T *HI@ (Impact assessment)

Explanation: i1t T=&1F ST ST 21 0fb | - TRTEIE Sory i, 57w 8 SHEeH (T o
2T O ATTET AT I F4T

42. Question: G @ GRS IR TSR ST AFISEH (Fa TLF FO1F (Hefte
ME?

A) Sy

B) dT 8 Fay

C) FfHAT 8 SRS
D) SojEd STER Jfa

Answer: D) S SRR (%
Explanation: f3z18s afefFma1a S SREME el 3w 5| 970 FE@ (T TAPATR SAef1ely

NPT AT I9% ST© BF FAG | IF FTC P[EA MF TEol JH M| TerFhote IRT™R JREET
FTSTEE A@S A TEd Mere e 2@

43. Question: TIT57 3 SIS AT STINPI (6™ SO TON (SAET 3 SR (T ==

A) TE 57
B) 76 &
C) 76 w61
D) & FEF



Answer: B) 76 21f6a

Explanation: - $»0¢ ST bb AEEF TG FIEEF THF IRAT (TS (SFF G067 AT ST 27 [
551 A 6|

44. Question: >8 NI 5 TFI AW@AF AT VL6 JSHEoT TSI fi2eT -

INELGERIE]
B) IR
C) e
D) (@1

Answer: A) SN CERIE]
Explanation: &5 (131 TSI @ I (STHA TOR BF FE S8 NETH A A7 {16 |

- O T JEHC6F NIOE IS M1 e fizeT SISIRA YA sl | - S8 WETH & (A S Ao G
o T NFI AFICH [FHTHE 209 JH AN T FTEH0od T 22 0fb INE [Tt 24

45. Question: PFERINF &-%TF [FCTH Y Qeral FT 7F?

A) {1 o197 a6
B) 37 I3

C) fafe=rel =g I35
D) SSIATFT6T

Answer: A) f3e 513 1265 (Bill of Rights)

Explanation: 3535 (T4 J[SJd T2 SRS (FH (@ A Tl S LY WEH ¢-b TN
TR SfS© ARTE TSN TN PRORNF =T Wl FHY6 (7T FEA| - 2 FHYOE IR STl
FSTAFICT RO 12 FE | FTH2 T 9 =T 5% 1@ I I 6T W 7 oAl fRe FE | Tz
(AN 3 ST, AFT-F1T CIfel, A (3MTz (ST 2 |

46. Question: IRTCIF AT I 79T (F?

A) FA1F HESS I
B) SISl 2T 12
C) 3feramy 2

D) e 3 21
Answer: A) F31F S



Explanation: - IR 203 J1H 9311 {0 AT $909 ST T T Foal] FEA| - 599 HET
SR I CTF N FT NASECITIE RO 20O TSI M CTF 2 A ST | - ST
(A BF 2T RES SAGEF J5T| SET, - IRAF T FIHT SO - TRjfoed T3 MR 8&F

STTSTA! ST BF FEF - FAF el TAEF TR | TSz AFTT - T AT TN 2oz 1T 7@ 32

(S|

47. Question: JEF 436 I© ---

A) farmae
B) ot

C) SRS
D) TS

Answer: A) fam3e

Explanation: SIFS SO : - SIS - SIS - SRS - 53 - Fiay - SN - ey - aurfeewy -
S - FETHT RN | SN, - 5% @ AT S© - T : GBI I - BFOIE] : (ISHI o | (a2
I o ST AT FF e @1673)

48. Question: IRTAGCT IGEI @ T Tfore 2F -

A) SIS &1
B) A &7
C) 3 4

D) (AT &1

Answer: D) (Q1ET &1

Explanation: - S1(d{6F SHIHT-x0%0 SE[HIE 059-30 IYIRE IRAGCT KT TS AW TFHal
8(8.08 TF (TP baT| AT T, - (INET HH : 208.9Y TF (3. B - AR H : $¢¢.0x TF (. 5ot - AST
1A 1 0. 5% FF (1. B | (S[as IRATWT 6P FHFT-3030)

49. Question: TN i T MVHFIR TIFNT G -

A) BARI

B) BRRI

C) BINA

D) BADC

Answer: A) BARI (31H)



Explanation: - IRTECTE THH NTFI 18 G NPT Ao 2N IRTTT F1H SIS SN

(BADC)| - aft 3 THFa THTARA Wikw @ee a1 afeda| - a7 )= Re@ BADC Jfew
THETR SHAT 18 YA, RIAFT 3 FIIR, (6 HIRF SFTF A3 FIF T NAH© NF FIITR
FEAWE| - S A Aefde JF NI PR TITS FEET (77 @ 77 BADC AHTHT (|
AfSF I FRET TIFE NI TS| (a2 IRTT T 6T TAFT-30%0 938 BADC SFINRE)

50. Question: o5\ NTETF ARG AT FRHCT FTRT-F TS TS -

A) Soo : Soy
B) oo : boo. b
C) boo : dSoo
D) Soo : Yo00.9

Answer: C) Yoo : Yoo
Explanation: - SIS fH0NG S, 208 SE IRATWCTE SR f&E T sa.x¢ @61 -

OAAFIT RN TATRAT TAF > U8 T | - - TFE IO $00 : $00.9 - TRTCT ACHES NS
SelsT223T T AT S ST ATT- 8.8 Fiev |

51. Question: NI RYF F© IRTGHWH TG 9 -

A) b@.8 T=F
B) va.¢ I=A
C) 90.» I=F
D) a3 T%A

Answer: B) v9.¢ IR

Explanation: IR IINASF THFT-030 TGHTE, - MG TSI AT 2018 MFF TAH| -
g fASHT Sp90 MFT Tea | - F3= [T RBGHT 23f%a 77 €.38% | - BT TG €. L& TSR]
- TFTOI T (9 T2F+) 98.8 TORT| - TSIIFTS TG AIFFT R.& T2 - SO N T=AFTA 5.5
TOR|

52. Question: (T (¥ TBRET IFNIH (2 -

A) CTRTR

B) INART

C) e

D) (FacTe =6 A1feeT FAT T-®



Answer: D) (Fa@El

Explanation: - 5% IR 8 SIEOT A6 AWATT | IRTATGCT AT I (FAEHAT (SN FAFT]
8 PHIF TG | - A%ST IRACT A (FRT3 AT (F1H ST S NS T | TN AH
ST wooo HEI Ho | - ST eI AT AT 977 YT WAG S T FER|

53. Question: oSS NI MBI SAITA IRTECT Household IS Sarsz -

A) €. &
B) ¢.o &
C) ¢.8
D) 8.8 &

Answer: C) ¢.8 &«
Explanation: - SImTSNEE 0ot S, 208 ST FRETIH0TE ST f&el sa.x¢ @111 -

SAAFTH RN AT TeF > U8 T | - NI TFFH IO $00 : $00.9 - FRAUCT ACHES NS
ST T AT H(S FATAT- 8.8 T |

54. Question: (I [T TFTeIF TF TS -

A) 5137 feTst
B) ForN3T fAeTst
C) TN fRersr
D) Jfar et faersr

Answer: A) BIFT fSeTsT
Explanation: =% Swarssifa fA0MG S (W07 9 T 3 ©1F SCHE SAISIF M NSOl 2T

@Y.0» TERT| AT BY TG N A7 SAGTSIF TF 9. %0 ToRT| TS JqTE NFTeF I -
sfEe afaeer fFensr ags Sefae St Fesn

55. Question: (SSIFEIF AT T I IS SNF SITST 97| TGS SERIF Tely I (T 1)
205-5 IYIEH IRATWCTE AF© ANAfoF FJad T4 -

A) L. vt%
B) YL.99%
C) 9.00%
D) 9.¢% A6 TS Fa1 7@ =

Answer: B) L.59%



Explanation: (F1feT 7836! Seaed A6 ey @ Sierdt af{saaa ot T=ass (@@
303-33 TATRE TG TF 9.3% AT FA AW - Y030-3s TATRER Ty &G 77f%7 2F
TEOTHT @ L.5% FI TT® (AF©) | MAHNFONE THaT §387 T3> v.3% |

56. Question: IRAECT (o SRS "CHAT (AT TN @ ®=-

A) feaems
B) BTG

C) qT8T©
D) (SN

Answer: A) f5qeS

Explanation: 3@~ FaRIg A% 8@ fAfNGe SIamersia (S CNEEse SoSed EEG
TIEG | - B AF TN FIATT GIFT FIHE AI56 | - A6 vsdwe NE Ay 8F FE| aba
FrRIET e T vo THF INACEF| - 200 ST AT FRIATE (GANE TAN (oo (NS AT
STRTS FRI FE| - IRTIOCT T I RIS A1 FE@ ] FreRAs fhGs | [Fa: sa~ FreRans
SIITREG 92 IRAGN]

57. Question: (FIATAT IAINF AT SO FTIWI-

A) GrIfma
B) $3I7%

C) 5o

D) (SIBTCIT

Answer: B) TS

Explanation: - RATSTE Wa] eqd S AF6qI0E R TI4 | - IRAGCTH THJRS FAI9H
JCTR (ST (FAETT W2 SIS T (TR | - NEGH SRR FeTqd 57l ST (AT
FIEH STSF T4 | - SIRIAIISTET G F57ew W s] A6HIGiE (R “Feiqad |

58. Question: IRACT NI EPZ 527 -

A) ofo

B) sxf6

C) vofb

D) vf6

Answer: B) 536



Explanation: IRIWCT NIFI 3G A7 AT b 51 IV - SEAW, - BIF, - [T, - Hgaat, - Sadl, -
eI, - AGHST 8 - FAHEAT ST JET FHFH HIef 23T (M0TF T TP 2SS SBIH | (W07
TAT 3 AFHA (IIIFIN 3G 97 TN- KEPZ, 5B | T3 N: g FHITT SIS, (TS|

59. Question: FIRTACT NI @ I FF -

A) ARG
B) ®1F%

C) I&A™W
D) Si=

Answer: B) ©19©

Explanation: - 5IFE S IR SAEF Tef§ IR F@ S (A | - N fROIE IRATT FIEF
G A FE TFS (| - IRACCTH T AARNF MGl FIEE @ S 43 TSy s -
FREATT FIEF (@ T FE IS | - OR IRTIOCT NG @ @@ 4] T FE IS
(A | - ARACTE S THJRS BTMFF wreT S | - FRATT (T RO @1 SR A7 ST (A |

60. Question: FIRTATCIF TAT (NART J{F: BF FF -

A) TF TRF

B) Tt TIRF
C) afF k%

D) GT6-IRAT WRF

Answer: A) 119 % (Brac Bank)
Explanation: - BT6 FAT IIRF IREGCT TEFXT (NRTR 512 "ST6 IRAT (NART HRF" B FEF 0

T 2058 WET | - Af6 IGAN F@E AT THIGH FAT A - (MR FRAF (N7 (T (F@ (FoEd
SR ™ T/F TREFF TFE SO FEFTT 932 BT6-IRAT GIART ITRF 'JEG' |

61. Question: TIE% FHRHE @ FFNTIT AT -

A) g sigenery

B) e FFeTH

C) G NFeTY
D) T8y NFeeiy

Answer: B) a1 SFeem



Explanation: IRAMWT (FG 9T NS SR 10T THNAETI AR aF0 TGO | - SdDI N
SR@E M FEFTE BT A FIRATT BT BTy J1eT 7455 27 J7 2030 S IR
ET AT HNE% IR TR FE | - (T Frgg I RTS, N9 SHIT 3 TNET TS IRATT (S
A B B F16 FE | (Fa: TS SRR SFITRE)

62. Question: TR (FIF STSIT AT AN S 7 BT 2?2

A) T
B) faSiw
C) =%
D) &%

Answer: B) f5oix

Explanation: - 53> ST b3 I & 61T 5w V16 87 A1S FE@ IR ST AT
NRPIF 0T FE| - 2 I T T TN AT A6 5 B FAT 7| - ]AOH AT
T IR AF6 AU e SesTw Swstyster gaeawais [{Afed @ oy @ a3 f$fd o179 91
| - 3N 0@ 9 ACISH NHF Tely WY IAT &2 v¢ NAB 1| 77 ©7 MSE wo AAG Fa7 271 - W79
TS ST Sl S ¢ B a3 R vEra Swhma sey e Bt s F91 231

63. Question: @ B TR AT -

A) TR (ST
B) CIRATF (& ¥
C) ATFTI (T
D) AT (Sel1d

Answer: A) ?1351?1[?@’(3‘171'@
Explanation: - IRATCTR STOIT N@I (N6 AT 25T 0 ofb| 9T & FANT TSIF (SN @100

ST AT ©oofb| - TSI MA@ woo &z AT I IAIF| - S TR I I TPTG-S | - TEA,
FRETENG AT NGRS (ST T I35 FE TTAT A TAR | - TS 0{5 ST TE® BT (G|

64. Question: IRACT YFI@A TooNFI e "HE IR (FHAT Heif%@d o1 (F?

A) O 75
B) A1d SMSISH F2HT

C) 2N SMRETT
D) ST g

Answer: B) Ad S1GF TN



Explanation: J[&y&fefes fF3i1e teifta ‘Siw @ (T a7 A6 Sy $3a1 a6 S»ae e
IE T - 26T ATFTN FET R TR | ACTHNT FIAF AEI TS SN [T G S@a MET T @
S (IR, STAFAT, (IRA], F (900, FAIS 20517 |

65. Question: ITSIT WNM 'FIF6R' (@6 fF?

A) 259 (FO1F (S16
B) 22079 (&16

C) a1gifed (o1
D) P 1Ed (o6

Answer: A) S5 (Fo1F (16
Explanation: SIrssTeat IRAGCTE SIFH 97 9@ (b) T IFera: 93 RTNG-J00S (3) SfFe 3

(STOTTFIAT T TRATEES (ST0 N@ w@ 2o 3@, OF TIRAF (S0 (Fa Fore Nerife
CHFTR) (ST FEAET A7 972 NqFT (Fa fofel fAf7F (casting) (ST T9TT FAE |

66. Question: NILG a7 sJefi-

A) National Information Legal Guide

B) National Industrial League Group
C) National Identity Licence Guide

D) National Institute Local Government

Answer: A) National Information Legal Guide

Explanation: NILG a7 5(&51: National Institute of Local Government - IR TR NTFH
ST TETAFACR SITred (F4 ROIE FT6 FE = JSIT FA1T 26666 (National
Institute of Local Government-NILG)]| - afS FNT T, TG TIIF 932 FNIT FFAAIT AT |
GST: ARETT SSIT S TS |

67. Question: IR e NfSTT FNOF T2 47~

A) vy
B) 9
C)iw
D)}y

Answer: A) @)



Explanation: - IS IRATG ST NETIT (NG FHGTT AT 20661 - THC 2086 AEF v
TSI TREE FICAR ‘TS FCIET A AFTgo FAT 2T | A6 FIGE WA IF (TF 205
(T AT | (SNF3TA2 IRATT NPT AP STINRG)

68. Question: SIFHET (FTH ST FIFI 3 FOLT SIS SEY A2~

A) Swo
B) sy
C) 80
D) seq

Answer: B) Yo%

Explanation: SI=STea! AETGCTR eI FIH ST "IRATGCTT FH[SIS" T Ifefe oz - a3
AT 2T AR "TIFIE FH SO ST FT I07 7@

69. Question: I I IRAWCTH BRI TG F© ST SIS FAT 27?2

A) & ©TST
B) 8 BT
C) ¢ Bt
D) x ST

Answer: B) 8 ©T(T

Explanation: ©-23® SIaIE IRANTE ot ST ST F71 I | TT- - SRR JETF MRS, -
ARCOIAPIETR (T 93 - NEASGFBICTT ST STASIN | ST SIS RACTH ST
RIS G2 ©TET ©I5T FJ1 7| T - - iRFe-JHRETH RIS, - Soa- I RIS | IRACTR (16
O, - $3% BRI T ARSTT, - &% HRCOITAFETT (T 32 9% - 1o % TFEfeFFTT
T SIS |

70. Question: FRATNE FPFSTASII! FA SR NI (5T (FTAMG?
A) FIH

B) e

C) rerarst

D) G

Answer: A) &I

Explanation: - IRATWCE TN 3 TG NHET SN IRATE T (7T RETE 29 NEF



Y fEoTa 333 FPS (7 Qo | - 920 fFely (w1 RReTE Hghe (7 orwe | - wery (w1 RReTE &
S S SEIME $293 IRAETE HPS (FF| - TN N/ feTt/ A= JHferst (o7 ReiE
(TSR S (HFINF SR IRANE FFM© Taa FE| (a2 28N 66 FEMNEETG SFITRE, FIEH F9
A3 IR Sfefve)

71. Question: FRACT ST APTE ©F FIDHF (¥O1F -

INEIEEIGE
B) STC1®

C) S5 T
D) §i7 fa=w

Answer: B) a8

Explanation: ¢ fETTET S 9@ SIE TTFIE (TG (AT JETH STresnest IRAWT TTFT
SRR (ST T0l FE | JEY@d (¥01F 8 N Fow | 731 5. e 9 o (FAT] SIqHIE T4
FATHF (AOR), X. N TSN L T (FAW FPNE T FFDHF (AOR), ©. T FF vae &
(ST ST PoIT FHHF (AB1F) 93 8. T TSP 83b & (FT] AAF 59¥ FHI6F (¥S1F) |
Y@ (AOAG (N6 @G TAT b I | T: JfHI7 [TATF TFITT 3 SolT O IR |

72. Question: fF@G IRATET (G556 AW TH-

A) 559 ST
B) s> ST
C) 00\ ST
D) 2000 NI

Answer: B) S NI

Explanation: IRET Xb S Y000 NI SR W ToA50 05T RO (556 (Vo1 7] el & |
AFTF (@ IRATG (FIS RIFTCT SR TI2ewR ROIH TR TSR NG (N1 5[ = -
IRCTH ASES (BCB P RETT FBAF TN | IS (55 P HNeT 2F | - Y000 NEA
FSFE SO [FHEF FH (56 (0o AT IR 00¢ N FFFIE f{E 427 (556 ST T
S| - OTF AT 559 ST IRATT {6 7 SIS BB e FE|

73. Question: 'S (T 72 A A AATRNE ©N3?

A) IRTAET 3 BT
B) &= 8 B
C) @b 8 B1T©
D) ©1F® 8 (AT



Answer: A) IRIT@T 3 ©IF©

Explanation: ST~ TME fA@1E: S1F6 8 ((NET T T8 T@® S, vdo FEMNGE A1 s, 000
TRA| AT N (T FEFH SIS @ 72 (0T ey &y f{mena |

74. Question: SEIA- B8 (F1a FRNTSE AI(507?

A) SIFG NEIEIE

B) AF6F JEIE
C) BB NN
D) & NEISE

Answer: D) @ SRS
Explanation: & SXTSTE A% SEIRTT GITAET 919 2: - Fforma, - s f[{efif, - s,

O 3 - NET GI15& TS0 | AN (F, SIS NRFEIES AAT0 T NRA NS - NUSTEE, N,
frfers, Sters, T 811, S @ @ RE 2es% SEAETT|

75. Question: ST fFAfNAR SGOT ITISFIE T T T=wI@F AT (572

A) QFETH
B) F1om
C) ©Ifd&
D) 8357

Answer: D) S25g

Explanation: SI@a Saa-s16m7a o SteT IASIET S[Hfes J87a S=wiX 2T S2EF |
AP, (CHAT 3 SIS ST T INHE AT 3 ©IAFIN I FE|

76. Question: =fe ©19® Google (F [AGT (FH (AT Il =fF (@1 (@ 7@ FE?
A) Google Earth

B) Google Map

C) Road Image

D) Street View

Answer: B) Google Map

Explanation: India has rejected Google's plans to put Indian cities, tourists spots, hills and



rivers in an application in which one can explore through 360-degree, panoramic and street
level imagery. The Home Ministry has conveyed to Google that its plans to cover India through
the Google Street View is rejected. Source: indianexpress.com

77. Question: TTHTH T FATIAET W F© TORT ST A6 TS IRATT TH0H
T RAFE AFE?

A) €%
B) wt%
C) 8¢%
D) 2%

Answer: B) wt%
Explanation: - REENET TfTENE CTNRIRAT T T25W ¢ TR SIS I ST I4T AR -

SPT SR FFNAISECOS (T AT VST (T I AT | SRIFHAT (F@H HT AHT6
S 2 ¢ TORTT (@ {359 F00Hd (S16 A0, I I[E AT NS |

78. Question: @I @0 99 IO HIT 7?2

A) TREN IHRG
B) F{A-TR-IHRG
C) fae

D) SIfH@e

Answer: D) S35

Explanation: e T8 3@ Sels WA STSENE I TF AT 268 ST | FESM6 SEIETST A
TGS ST T - - ST T, - IS TR THRG, - ARE AHRG, - R, - 8, - FECEE IS
RN - FEA TR TEHRG (CS2) A3 FRIAT TRHRG (COS) AT {2 TS ST T2 ST,
FIN-w T CIfef - (A6 T3, fIBIfFT 932 Royal Society of Chemistry | - SIS el TG ST 93|

79. Question: oA HE fF3%F 1273 (UNEP) 3 Sy 33 52731 (WMO) 97 fifere
ST oS S F -

A) Sierra Club
B) COP 21

C) Green Peace
D) IPCC

Answer: D) IPCC (Intergovernmental Panel on Climate Change)



Explanation: - IPCC (The Intergovernmental Panel on Climate Change) W{Wﬁmﬁ
(FBIAF STEFAT 3 S-GMG IR FE @ | - [ IS8T 57275 (WMO) 8 Sesi® SIfE@
FHY0a (UNEP) (¥ ST »v'% S IPCC 51f3® 2F1 - IPCC a7 I$N STy a7 3¢ f5 1 -
IPCC 2009 ST *NfAC (ST JFHE e F | (SJaz IPCC SWIIZEG)

80. Question: World Development Report f@a @ 3167 1T IFT1?

A) UNDP

B) BRICS

C) IMF

D) World Bank

Answer: D) World Bank
Explanation: - Global Financial Stability Report 933 World Economic Outlook 31 3 IMF | -

'World Development Report' 1A% S&Ta16 IBRD a1 World Bank 5T @1 - Human
Development Report 5@ F& UNDP | 835: k3% 31T S@ITRG |

81. Question: IMF a3 %g wgd J3f%e -

A) @™

B) fero2xd

C) (S&eT

D) 331Pba fofsy

Answer: D) 8TI*REA f&f (Washington D.C.)

Explanation: MF a3 & International Monetary Fund 3T SIg1ie% 3uT 92| (364 SO
SCHT fIATREE A NEHM AeD SIS (SFeT 27 IF a1 IMF |

82. Question: I WfFT @ TT IT NFF STITAIT (W07 (FNIF|E 2@ ANAF FZToT 3
AW @ AF?

A) ICSID
B) IBRD
C) MIGA
D) IFC

Answer: B) IBRD (International Bank for Reconstruction and Development)



Explanation: - IFC (International Finance Corporation) k% S5 936 afeDT I $HCY T
IS 2F| - 97 W 22T SwafB1 - IFC a7 swangd sTiba f6fie wafs | - aft aaae
ST (TISENS (FTIRI T ISHTFTAT AeF S I8 3@ | (932 IFC SFINZG)

83. Question: SEEA™ (FTH ISETAT (MCT 3 Ja7T© 27?

A) T
B) RS
C)Zm™

D) 2eTfer

Answer: B) RS

Explanation: fRef$e 27 1 55 | - (AWM CTEITAR a3 THE0T FNGIOTT THT@ TG
TS T | - ARTF AASF HIET3 TIH AT TS JE AFFHR A3 97 %7 | - OF, BFF 0F (=
TS (FF TN TOE@H (YF2 THSAH e | - B NOF Tod HIH o] & 2ol 477 7|
SEATS FoPTe TS T (TN (FHNES AFCET A S |

84. Question: INfeT:ET Tt T0T

A) ST , ST, H15 , fEG, F11ST, IS8
B) TaF ({3, MFI, ©1F®, 25N, B

C) ITATE, SIfe, faa, e, Sie, A=A
D) &= , AP, IFATE, f&AG, B

Answer: C) I&ATE, S, fAG, F1fde, B, AR

Explanation: ST&SET 13 ST ¢ff (W1 (3w faamsrar Affmmas o1& swy| - SfesemEd
foraT=raT AfEAma GNE ST 2257 S¢fB 1 - 97 Sy ¢fF 3 5Toswy a7 Soft SFaRt swsty| - 31 5wty ¢f
7T X JEATR, AT, B, JEamss 8 F | - @Rl EEma 518 ToheE (ST Fiel TEE|
SIfSTES fRTeTa] AT A TIR AR S 92 ¢ (017 THhod T@FOW 27| (a2 Sfewd
STITRE)

85. Question: 'Law of the Sea Convention' ST T3 (¥F F© YAT 743 'Exclusive
Economic Zone' RN 5Te5?

A) 23 FAHFTET TR
B) 88 ALY M2eT
C) @90 FAMGIFIIT 2T
D) 00 FAGFI AR



Answer: C) @90 B N3

Explanation: - ReNCCTE G35 IATFe IETTTHIE (M7 A0S LRI ©90.8 fHFENRGIF AT 200
ORI JRAT| ARTCT, - (GCIRGIHIT T TSANSP LA (75 : S FACFII A3 - NRACIEF (s’ :
@8 FAGPI MReT| (SXF3Yas IRAIEIT a7 [ 1)

86. Question: FEF NET TFHNITS §f& I Joint Comprehensive Plan of Action 7T #ifdfbe
©f 312 -

A) 3 af8e 2085¢
B) bo fETIEF 20%0
C) 38 (*6FF 2048

D) 8 TR 205¢

Answer: C) 38 (T*6FF 3048

Explanation: - Y05 STETH 48 IR 2R TN FHYf forzaer A «IfEya fom@ame 3@ S
ISA1Z, &G, Z=T, M, Sl 932 SEffad Joint Comprehensive Plan Of Action (JCPOA) §f&
THES 2| - RS 2050 N Sb S FHFF 27| TII6I0 (aTerar Af7w aft Seeme FE@| -
(SIS TP Y05 FE JSAB@ | (VF ToIRIF I (@31 (7@ R 37176)

87. Question: 'BEEP Ta1 BF FE&E-
A) $58@
B) 204
C) 20b0

D) 9%

Answer: C) YobN0©

Explanation: - f3f>s 3@ A6 A@Sf6F Af@ et 5231 afod sma wed ((qUEaISed
SARTOIRGIE AIFS | - SIS T A AHGET T JFANEA [FolF NI AfFwE afoIma
AT FEAT SUeTe FE| - ST 3B ee 29f6 T eIy 8 Ao 527 o sifde|
(CRISEHPOIENIIGERIRD)

88. Question: 'Black Lives Matter' {72

A) a5 ST T

B) 956 7T

C) 23f6 NGO

D) Fefam &t s



Answer: D) Fefqm &} Sm=rere

Explanation: - Black Lives Matter is an anti-apartheid movement. - The Black Lives Matter
movement began in the United States in 2013 as part of a protest against the acquittal of
George Zimmerman, the assassin of Troy Martin in the United States. - The recent wave of the
Black Lives Matter movement around the world centered on the assassination of George Floyd.
- The main purpose of this movement is to end global racism or discrimination against blacks.
(Source: Black Lives Matter website)

89. Question: MNP FAZSS TN ST NAGEE (@ WA fHEa @ 162

A) T
B) Sst1fer
C) 3

D) J&A18

Answer: A) Ff¥AT (Russia)

Explanation: - f31e TS ST - s =03 (W - Bi| - GG [ SqE@a af{orer - 3, vov. v fNfems
(. B, AT - 9.5 (. B | AU, - R, [T STA@F 0 (3@ T4 - TSA1Z | - (6 [l STAqCT
SR - &,3b5.¢ T T, Bay; 3G - Sb.3 @1 B UNEP 51*1e Emissions Gap Report-2020
S TGS ST ST T (@ T: - 2349 : B - fFO1T : JEAT - BoIv : BWS+ITI0W - 5@ :
IS - F¥F : AT (SARfa: UNEP 97 Emissions Gap Report-2020)

90. Question: (FAMG [NFFFACET B =& 77?

A) CTBT
B) SALT
C) NPT
D) NATO

Answer: D) NATO - North Atlantic Treaty Organization

Explanation: CTBT = Comprehensive Nuclear Test Ban Treaty. SALT = Strategic Arms
Limitation Talk NPT = Non-Proliferation of Nuclear Weapons Treaty SIS BEREHREEIRC RS
i resaeE Y =P |

91. Question: AFS (JST TTHF 8 T AT AT (NIF SNITT T T S (F|A6?

A) wig e



B) =TT
C) wFe]
D) @fesel

Answer: B) ¥ge1@1

Explanation: - A ({515 SNGEE ASTTNH (N1 ST M (T 8 2E (AfeFe]| -
WSl FHTel, THel T8f6 (ool (AF S5 JNeN (Nfids Saf|

92. Question: AW oI FTHIY (FIAG?

A) SHfRyeT
B) IX&FeT
C) *&el

D) STy 8 T

Answer: D) 597 8 s ¥

Explanation: - ST o=@ [eTETE 2T 5ToF 8 AT | - NFS], 75o], A2yer 2eiv 21 o
SETETER HF | A (NS 3 SPITA — S (3N (NSCH 25 |

93. Question: FMHF v¥ IT FNE I TJ?

A) TS

B) I&S1aT SeEmF
C) 33e

D) SRaTw &
Answer: A) IS

Explanation: - SRIGTETH BT ST ANGF AEI¥o 5@ IT 1 F 7 o157 Fe01 271 -
STTSTTETS AR foaib 5t ST NN, IR 3 fA61F fTST5E FSTuIfHT FHTH 97R JeAsNerd ¥ PGS
(TSI DTS NI ROTE AEF SPLUT ACETAT SR ST el S| TN ST
©F 3 ST : TRI TAMF 3 TR S

94. Question: NI FI&TE S (F1 FEIN Sl 74?

A) frrger
B) 5919 nfzel
C) faarier

D) S eTeT



Answer: C) farisel

Explanation: - ST %18 1240 A1 S Sa1afuize], fNaerger, TAm=ier Mofs eEs 11T
ASFANF I S | ABE PINES (Fa 2SIBF | - ©F AE@ ool AANF 73| aft Dfees
371 (o T% MG (NFNS 8 PTG : TAATA - AT (. (NSCHT 29F)

95. Question: UNDP P faffsesat $3f6 Samre SEy FEm?

A o
B) aft

C) vfe
D) >f6

Answer: B) aft

Explanation: $5>9 ST 3G AN SPNSES 5837 501 FE | RSAATS SPT feif*oe Fat8 >

T SEN FE@| AT IEI- - THeT 8 HATST, - TR AT, - AI@S T, - T=e, -
SIRMRGT, - REGAATGT, - TEASADT O TN, - FHFFOT 3 TFeT ATe - (FITATS TH| T
BRI SFINRG | RS 51731 8 ANfEF @ TG S : SfesiT (UN) - v 6 IDA -8 &
AP (SISTTG BREA - ¢ 6 7 T)F (WB) - & 6 Foena - 8 o

96. Question: (FAG MITAITOIT AOP FeTaA® FT?

A) TFFTE 8 TRET (FHa STHe1F e T

B) SN e

C) AP 8 SENSTT (F1a TN fAFeFaef
D) SPI@E &y 8% fAifipe (6T forest

Answer: B) SIR@F 5o

Explanation: SS9 8 *T¥T (F(a SOTH AN AT, SRETE X, AT 3 SN (Fa o1
fAPFEeFae - 2T RAFSET TITAITSTH e JAod N6 | AT, PN Fels O
e FHFOT @I - TITIFTOR [Ffed Jerifod FFe 73|

97. Question: WP b1HfH® TooTH AFFMS (72

A) TT I AT ST 3 SIS 5T FAT

B) WIRfEF 15 (FTT NI ST 7l o7 FAT
C) SHTo FGEH (T (FIET [T sfeTrere Fa1



D) faciz 8 farrgerT aiffe wifly TN o5 Fa1
Answer: A) I ST S0 SASTHA 3 A5 ©F15T FAT

Explanation: [tz 8 fAarmseng afsfe miiy IV T Fa7 - NI SIFiA© Tood AIFS |
T ST AT AT 3 DA ST FAT, WG FIE (FIAT NI ST 5= AT FAT 3 GHIwed
FONET (T @A W@ AfSTeTa 47 - Tonug NEE Tool fAfve 27 &7

98. Question: @oF e TN ST F?

A) Surge]

B) IO TST
C) AT 3 AN
D) STeeT 8 fardr

Answer: B) $o97991I@T (Duty-mindedness)

Explanation: [dfe® f&a F8a Sme Towol 8 81| Srmre] T 3 Jifs, sraier, F2fier,
TEF THIARCE, T=6T 8 TARMWRS], ARG T 265 TEN @Ghod T STmE| T3 (NFAfe
3 ST — SHSF (T2 (NCH 35 |

99. Question: SPTINA JeTte B NG S SAEH, TIPNEH NET NS SefsTerd, TN SE7 Tfited
ST (AT -Sf& 6 F1H?

A) afssBoe

B) &l BTG e
C) (& ATS e
D) M

Answer: B) & 5316 fire

Explanation: SPTINa S=1(@ 936 SFa 3 SRS 3881 ST FERA MIFFA4A!| - ©FF Jw, "L
TS AMEF S ST NS, FHFNEF W NS SN, THEH T Mo d T @ @R |
TS5 (TRAINS 3 SIS, S 7a, AFTTI-J0 I, S (312 GIISICHT 25 |

100. Question: ) S5, FF 3 TG N FAS TSTF (-

A) TEAEFF
B) SR XS
C) T™WITS

D) spmsteY



Answer: A) NHIESTF

Explanation: S&s1e, A% 8 $THE S Hfa® Se5¥ 2ol SPINA | - ST a3 57973 @1 {3371
SIRE T SLISE-2 S| - (T AT T, SRS, SR T, I (FEol,
el 8 6 R Tfiae] [fee 23 ©IF PIs+ JE|

101. Question: ) Choose the appropriate preposition in the blank of the following
sentence: The family doesn't feel going outing this season.

A)in
B) on
C) of
D) like

Answer: D) like

Explanation: (e, W”T@'@flike 7920 T | (IFF- He looks like his father (7 (W@ @19 {19
©), AT 5% FA© GISIT AT 2% FAT T A3 2377 IO feel like TIT© 2F| (F -1 don't feel
like going now out of room.

102. Question: ) fill in the blank with appropriate use of tense: | couldn't mend the
computer myself, so | at a shop.

A) had mended
B) had it mend
C) did it mend

D) had it mended

Answer: D) had it mended

Explanation: Causative verb (have, has, had, get) 93 @ IFIHF object VNFE ©1F TTJT6! verb
fG past participle form a ICT| O Sf3F T had it mended Td|

103. Question: ) Use the appropriate article: | saw one-eyed man when | was
walking on the road.

A) no article is needed
B) an

C) the

D) a



Answer: C) the

Explanation: In speaking, we use "a" before a consonant sound

104. Question: ) The word ‘omnivorous' means :

A) eating grass and plants only
B) eating only fruits

C) eating only meat

D) eating all types of food

Answer: D) eating all types of food
Explanation: Omnivorous (adjective): Meaning: (of an animal or person) feeding on a variety of

food of both plant and animal origin. I 372 - (@Tﬂ,’\é’ﬁ’ﬂg) 9P, N FFCF A AT A7 |
Synonym: Pantophagous, pamphagous, pantophagic, omnivorant

105. Question: ) Complete the following sentence choosing the appropriate option: It's
raining cats and dogs, so----

A) Watch out for falling animals.

B) Keep the windows open.

C) Keep your pets inside.

D) Make sure you take an umbrella.

Answer: C) Keep your pets inside.

Explanation: It's raining cats and dogs 3% 3F&E 3B 20| BR IRE J3TF & =] fte 2|
12 ¥f3%F B3F TE- Make sure you take an umbrella.

106. Question: ) The phrase "Achilles' heel' means:

A) A strong point

B) A serious idea

C) A permanent solution

D) A weak point

Answer: D) A weak point

Explanation: Phrase/ldioms: Achilles heel English Meaning: Weak point Bangla Meaning: ‘@%f



GFsT Example Sentence: The corrupt ministers are regarded as the government's Achilles heel.

IFTE AR 9% TIFTEI NIGE G0 RN @A FT 2 AT N WA |

107. Question: ) He worked with all sincerity. Here the phrase “with all sincerity” is

A) A noun phrase

B) An adjective phrase
C) An infinitive phrase

D) An adverbial phrase

Answer: D) An adverbial phrase

Explanation: An adverbial phrase is simply a group of two or more words that functions as an
adverb in a sentence. - Just as an adverb can modify a verb, adjective or another adverb, an
adverbial phrase can further describe a verb, adverb or adjective.

108. Question: ) This is the book | lost. Here 'l lost' is-

A) A noun clause

B) An adverbial clause
C) None of the three
D) An adjective clause

Answer: B) An adverbial clause

Explanation: (¥ subordinate clause (¥19 Adjective 95 v F18 F(F 0@ Adjective Clause JT1 -
ABT MFT FIZ© T noun T noun AT X6 THEIE modify FE| - 9T “I lost” phrase f& Noun
“the book” (& modify ¥@®| ®12 afb adjective clause 2|

109. Question: ) Which do you think is the nearest in meaning to 'proviso’:

A) sanction

B) substitute

C) directive

D) stipulation

Answer: D) stipulation

Explanation: Proviso (noun): Meaning: A condition or qualification attached to an agreement or
statement.



110. Question: ) Cassandra is a night owl, so she doesn't usually get up until about:

A)7 p.m
B) 11 p.m
C)7am
D) 11 am

Answer: D) 11 a.m

Explanation: Night owl (noun): a person who prefers to be awake and active at night. Jo9L,

fo@ (afF 3@ TN (¥ TIF 961 Te1IF|

111. Question: ) Select the word that is the most closely opposite in meaning to the
capitalized word : DELETERIOUS-

A) toxic
B) spurious
C) lethal
D) harmless

Answer: D) harmless

Explanation: Deleterious (adjective): Meaning: Causing harm or damage. a1 9% - (19 7
N TF) FfoFa; FfoFas; 7F1EF | SYNONYMS: harmful, damaging, detrimental, injurious,
inimical, hurtful, bad, adverse, disadvantageous, unfavourable, unfortunate, undesirable
ANTONYMS: beneficial, advantageous, harmless etc. Source: Oxford and Cambridge
Dictionary

112. Question: ) Gerontion is a poem by

A) Robert Browning
B) W. B Yeats

C) Mathew Arnold
D) T. S Eliot

Answer: D) T. S Eliot

Explanation: Gerontion 3 T. S. Eliot aft® aFf% fF2Te FfXe11 17 Same FfIer: - Journey To
The Magi, - The Waste Land, - East Coker, - The Dry Salvages 2&51w SEIETT| 916%: - Murder
in the Cathedral, - The Cocktail Party ffey $58% ST W20 (A& JFFH e FE | (5
IEQIBER)]



113. Question: ) Fill in the blank. " " is Shakespeare's last play.

A) As You Like It
B) Macbeth

C) Othello

D) Tempest

Answer: D) Tempest

Explanation: William Shakespeare is the greatest English dramatist. He is mostly known for his
plays. - His last work is The Tempest. It is his famous comedy.

114. Question: ) Who has written the poem "Elegy Written in a Country Churchyard"?

A) Y. B Yeats

B) P. B Shelley
C) Robert Frost
D) Thomas Gray

Answer: D) Thomas Gray

Explanation: Thomas Gray was an English poet. Mostly Famous for his Elegies. Famous
works: - Elegy Written in a Country Churchyard (1751), - Alexander's Feast, - Ode to Adversity, -
The Bard. Source: Encyclopedia Britannica.

115. Question: ) Who has written the play 'Volpone'?

A) John Webster

B) William Shakespeare
C) Christopher Marlowe
D) Ben Jonson

Answer: D) Ben Jonson

Explanation: Ben Jonson (1572-1637): English Stuart dramatist, lyric poet, and literary critic.
Volpone (1605) is a famous play written by Ben Jonson. Its important character are - Volpone,
Mosca, Celia, Bonario, Corvino. His other major plays are- - Every Man in His Humour (1598), -
The Silent Woman (1609), - The Alchemist (1610), - Bartholomew Fair (1614). Source:
Encyclopedia Britannica.



116. Question: ) Shakespeare composed much of his plays in what sort of verse?

A) Alliterative

B) Sonnet form

C) Dactylic Hexameter
D) lambic pentameter

Answer: D) lambic pentameter

Explanation: William Shakespeare-a7 SEGSET iambic pentameter-a (771 - lambic pentameter
RES Ao T970 93 F9=T metric line. - “lambic pentameter” means a line of verse with
five metrical feet, each consisting of one short (or unstressed) syllable followed by one long (or
stressed) syllable.

117. Question: ) The repetition of beginning consonant sound is known as

A) personification
B) onomatopoeia
C) rhyme

D) alliteration

Answer: D) alliteration

Explanation: Repetition of consonant sounds at the beginning of words or stressed syllables is
known as alliteration. Example: “Puffs, powders, patches, Bibles, billet-doux. Source: An ABC of
English Literature - Dr M Mofizar Rahman

118. Question: ) Which of the following is not a poetic tradition?

A) The Epic
B) The Comic
C) the Tragic
D) The Occult

Answer: D) The Occult

Explanation: Occultism, various theories and practices involving a belief in and knowledge or
use of supernatural forces or beings. Such beliefs and practices—principally magical or
divinatory—have occurred in all human societies throughout recorded history, with considerable
variations both in their nature and in the attitude of societies toward them. - So, "The Occult" is
not a poetic tradition. On the other hand, - Epic, Comic & Tragic are poetic tradition. Source:



Britannica

119. Question: ) What is a funny poem of five lines called?

A) Quartet
B) Haiku
C) Sixtet
D) Limerick

Answer: D) Limerick
Explanation: Limerick, a popular form of short, humorous verse that is often nonsensical and

frequently ribald. - It consists of five lines, rhyming aabba, and the dominant metre is anapestic,
with two metrical feet in the third and fourth lines and three feet in the others. Source: Britannica

120. Question: ) Who wrote "Biographia Literaria"?

A) Lord Byron

B) P. B Shelley
C) Charles Lamb
D) S. T Coleridge

Answer: D) S. T Coleridge

Explanation: Biographia Literaria is a famous work by Samuel Taylor Coleridge, published in
two volumes in 1817. S.T Coleridge is an English lyrical poet, critic, and philosopher

121. Question: ) Robert Browning was a poet.

A) Romantic

B) Elizabethan

C) Modern

D) Victorian

Answer: D) Victorian

Explanation: Robert Browning (1812-89): - He is major English poet of the Victorian age
(1832-1901), noted for his mastery of dramatic monologue and psychological portraiture.



122. Question: ) Othello gave Desdemona as a token of love :

A) Ring

B) Bangles

C) Pendant

D) Handkerchief

Answer: D) Handkerchief

Explanation: Othello FT6t& Othello, Desdemona (& 96 Handkerchief (W¥| - Handkerchief &
AT T3] fHF ToF IS FooT Th| - 93 Handkerchief ST BEAT fEomnd e, @6 o1 16
fa@ ©12 F411 Source: Sparknotes

123. Question: ) P. B. Shelley's Adonais’ is an elegy on the death of .

A) John Milton
B) S. T. Coleridge
C) Lord Byron
D) John Keats

Answer: D) John Keats

Explanation: Adonais, pastoral elegy by Percy Bysshe Shelley, written and published in 1821 to
commemorate the death of his friend and fellow poet John Keats earlier that year.

124. Question: ) The comparison of unlike things using the words like or as is known to
be-

A) metaphor

B) personification

C) alliteration

D) simile

Answer: D) simile

Explanation: Simile, figure of speech involving a comparison between two unlike entities. - In

the simile, unlike the metaphor, the resemblance is explicitly indicated by the words “like” or
“as.” Source: Encyclopedia Britannica

125. Question: ) 'Restoration period’ in English literature refers to -



A) 1560
B) 1866
C) 1760
D) 1660

Answer: D) 1660

Explanation: The Neo-classical period (1660-1798) is divided into 3 periods

126. Question: ) 'The Sun Also Rises' is a novel written by-----

A) Charles Dickens

B) Herman Melville

C) Thomas Hardy

D) Earnest Hemingway

Answer: D) Earnest Hemingway

Explanation: Ernest Hemingway is an American novelist. He was awarded the Nobel prize in
1954 for literature

127. Question: ) Telephone : Cable : : Radio :?

A) Microphone

B) Wire

C) Electricity

D) Wireless

Answer: D) Wireless

Explanation: Telephone 8T 1T cable fa@ | SafW@ Radio 9T MH® (F1H ©1F HIZF FE
71 O IPF Tad - A) Wireless

128. Question: ) Find out the correct synonym of 'TENUOUS'-
A) Vital

B) Dangerous

C) Careful

D) Thin

Answer: D) Thin



Explanation: Tenuous (adjective): Meaning: Very weak or slight. 1T ar% - Tler; I
SYNONYMS: Thin, slight, insubstantial, flimsy, negligible, weak, fragile, shaky, sketchy, doubtful,
dubious, questionable, suspect, Thin (adjective): "mo=T|

129. Question: ) Which of the following words is in singular form?

A) formulae
B) agenda
C) oases
D) radius

Answer: D) radius

Explanation: Singular ---- Plural - Formula -- Formulae/Formulas - Agendum -- Agenda - Oasis
-- Oases - Radius -- Radii/Radiuses

130. Question: ) Choose the correct sentence:

A) All of it depend on you

B) All of it are depending on you

C) All of it are depended on you

D) All of it depends on you

Answer: D) All of it depends on you

Explanation: All of it' 2% singular subject, 12 verb- 8 % singular. 43z Noun f& Third person
singular T8I verb 97 S s/es I 2| 1R, NOF IIFH 2@: All of it depends on you.

131. Question: ) A rolling stone gathers no moss. The complex form of the sentence is ----
A) Since a stone is rolling, it gathers no moss.

B) Though a stone rolls, it gathers no moss.

C) A stone what rolls gathers no moss.

D) A stone that rolls, gathers no moss.

Answer: B) Though a stone rolls, it gathers no moss.

Explanation: A rolling Stone (& complex A (¥73T T1J A stone that (relative pronoun 23 that

IF@Q) rolls. ©12 A rolling stone gathers no moss 3G simple sentence. 43 complex sentence %
A stone that rolls, gathers no moss.



132. Question: ) A chart was "appended" to the report Here 'appended' means----

A) changed
B) removed
C) shortened
D) joined

Answer: D) joined

Explanation: Append = Add (something) as an attachment or supplement. Synonym: add,
attach, affix, adjoin, include, put in, put on, join etc. Source: Oxford Dictionary.

133. Question: ) The mother sat vigilantly beside the sick baby. Here 'vigilantly' is-

A) a noun

B) none of the three
C) an adjective

D) an adverb

Answer: D) an adverb

Explanation: Vigilantly (Adverb): Meaning - Carefully (F6#e1@) Noun form - Vigilance (Fe3eT;
"NMZTET) Adjective form - Vigilant (Fe<; 21, o)

134. Question: ) The new offer of job was "alluring"” Here 'alluring' means-----

A) unexpected

B) ordinary

C) disappointing

D) tempting

Answer: D) tempting

Explanation: Alluring (Adjective): Meaning - Powerfully and mysteriously attractive or

fascinating; seductive. I 91X - oY JHFF I SFaT SYNONYMS: enticing, tempting,
attractive, appealing, fetching, inviting, glamorous, captivating, seductive

135. Question: ) “Who planted this tree here?” The correct passive voice of this sentence
is-



A) By whom had the tree been planted here?
B) Who the tree had been planted hereby?
C) The tree was planted here by whom?

D) By whom was the tree planted here?

Answer: D) By whom was the tree planted here?
Explanation: Structure: By whom + Auxiliary verb + Subject + past participle form of verb. -

(IFF who did this 95 passive voice 2@ By whom was this done? - (&3« ®1@, Who planted this
tree here? a9 passive voice 2(F By whom was this tree planted here?

136. Question: ) Frailty thy name is women. Here "Frailty"is :

A) A verb

B) An adjective
C) An adverb
D) A noun

Answer: D) A noun

Explanation: Frailty [uncountable noun]: Meaning - The condition of being weak and delicate.
TR 91 - BHFCT, TIFOT; HiPel

137. Question: ) Education is "enlightening" Here 'enlightening' is ----:

A) A gerund

B) A finite verb
C) An infinitive
D) A participle

Answer: A) A gerund

Explanation: Verb a9 5¥ ing & X I adjective a7 P18 F(F 0 ©? participle I¢T AR
noun 48 FT8 FHE B ©I@ Gerund | 24T, enlightening, education 47 adjective 2@ F1&
FA®| ©R NPF TaF - A participle.

138. Question: ) (G ISR (JRT?

A) t6a RFI1@
B) (T =1f@



C) Pra-m=1fe
D) @ =18

Answer: B) (¥ RF1[@

Explanation: - ‘[WIeR2@ 181 IGS9O - N FJfT1 - F¥ O 93] - 33 o3| -
@ 1S - ST o, TR &)

139. Question: ) (FAH GNP =72

A) T

B) &Ted

C) 93T

D) (sTefTs

Answer: D) (STTefTs

Explanation: GNfei® <12 (INF 1% fHC F97 I 97 T (SGT SAem] FHT I 1, (FSENE (Nerd 14
FE| (T - (ST, TN, FoeT, 2o, Fef JeIw | TN, T, IFTF, Yo Fo5iv Ao | TN
FIA-WS (AT TREAT I I3

140. Question: ) IR TTRSTF RO [FTTF THTHRI M (FTAG . J2Hw TGRS (TT?

A) IS 8 HIReY

B) el WifRterd 2fexrs
C) IR Mxterd 2fege
D) IR SfRCSTE FT

Answer: B) I STfR(@1F 20215

Explanation: ©. 3239 3 TR 60 5% - IRAT AMRCTT FAT (52¢9), - AT 8 HIfRSS (Sp©h), -
I OIS 2993 (b2u )|

141. Question: ) ST ACAFASI3F TN AIFIF T JH B2

A) FAIT EHA
B) SN&IG 25

C) *TIF 1=
D) 2 o T2

Answer: B) STSISHT 25



Explanation: - $>@© SR 316 JTT AFCTE S I o Twel] FEE ST TEoF e
IS TFT T I AT TRA| - TS RN TTrod SN JREW T | - 93 TF F
(ST AFCTH 5, 519, FfFel, S, TF 3 RO TSz IRAT S 8 Moy f&Fear- ©. oifia
CTAE 3 ARG

142. Question: ) [ (I INASTRT TISET A2 AS%7?

A) Jfe, fafFaer, qafemy

B) “1q&4, SHITH, swrsfn
C) gfgfd, SfeeaT, Mg
D) fa@e, b1, SIqa3

Answer: C) ©f¥gfd, ©fE3IT, AToFsT

Explanation: e 'F 97 TISE T2 TS| ST = @, 63T, A | 7, ST,
OGS, HOFH (ATFT) TNAST QTSN (RS TR BS: TRAT PTG ASH |

143. Question: ) IRATECT "I @G- 97 TT6F (F?

A) TTSTSETHIT TG
B) SETR I NP

C) ATGI TP
D) (Ifer @It Fie

Answer: A) TNGTSIS I JATHT

Explanation: (e 91 Bl 38 FATT6 IRA@A NGIFTE 3 STEIF | - Sl @A AT A1
CTEAIAT S T2 FEA | - [Ty BT A@ER a3 "IRA@T I NFEIF J S0 FEA

144. Question: ) "SI 6T A F1?

A) aFTTSTT

B) S| TIZEF

C) A o199

D) aF@TET

Answer: B) S« 19T

Explanation: SR : TeHRIE (FFIR0E): I - 5@ THIGONG; NOT (VS NS
TNFSTHENT TS FIFE G | T3z IRAT AFNGH ATSHT



145. Question: ) *PIIF TN {¥F TRf© FI T7 T2

A) ©1IFa
B) Teas
C) (a5as
D) SyF T

Answer: C) (335

Explanation: (d%3 74! - F69( SINF dbw | A2 FIE 766 T @RI I - @, WrHav,
SIS, ASTNIT 3 NYFAT| - P IW(F NI | - ([T RS b TFH SASTF AR |

146. Question: ) T. 3w MRqAR T=Nre 511w [R¥IF 37 1 F1?

A) OE TREF FFTT IRAT S ({3 (1R
B) SXTMfST

C) s¥iife N

D) Buddhist Mystic Songs

Answer: B) 5X3TfesT
Explanation: 5317w W=1f$® T. 327 RIyE1R A6® ST 91 - Buddhist Mystic Songs| - 918 3®

5% AfH® TAME - Lo - Yoo SIEF F&F| - A2 S SAEH 2© S FIAF AR T8I IF| - A27ST
fofer 9% SI0% AT 3o (s fofel SCEToa FEe |

147. Question: ) '33357 MEFTF (NFTEAFPRI TAZF (F?

A) wfEFenFaEe fara seprmd
B) ZF=SW AT

C) Al e (7

D) 5GFHE (7

Answer: A) U5 ¥ SpmIa

Explanation: TN (W ARTES AT O (T MSF [A@ES (3F 2 AF N RIX FEA | -
ISferg AEFRR BETo (T T Ganis NoFT (5530) 8 TFIF-MSHT (So3b) AT
FdTe] fARWET (@ P16 27 9 (IRECE TR SfIsE@d FF TR TGS 3 |

148. Question: ) "S- I THIN?



A) SNF 55
B) o dton(F 5%
C) a30¢¥ 5%
D) 9% &9

Answer: B) fTSte¥% 575

Explanation: (I 55 ST (FTAT SHTHS W [FS1& (&7 27 A7 S AT 575 ¢ | (IoN- -
H-©TS, - ST-3T, - (MCT- 0T, - TMO-FI 251w TN IRAT S FFFA AIN-9 (3fef

149. Question: ) '3 (I HI@F JIRA?

A) @G 77

B) ©TI TR
C) fiifere Jasafar
D) (A3 TR

Answer: B) TFIay IR

Explanation: aF1f&F F2Rf et (7 &/fer 578 27 o (@fsr IRl 1 fag=emwfey 71 IR =y
@foe TR b 2¢fB1 a7 &y W@ 6 (Afe TaRag oy I o) T, T+2=2, T+ T = 3|
FNF 20fb @fF ITR/AT o7 I+ 7 F6IF (@21 T ARAHF IRAT TNFF (205)

150. Question: ) 'R 9T WG NS NI (F1H62

A) f~1T q1a1 Sy
B) fa 1 @iy

C) /1@ (3 =ty
D) 3@ 9oy

Answer: B) fI @ sy
Explanation: S3=a 58131 [Fefe (7, (F) To51 (71157 2@ (T ST 27, O [GS1AT ©% T ST

FE| T - A NG = AT, - [T AT = {017, - TIE 1o = TAEPNS | TN FReAN
SRTE FFFA, FIF-T G, O A2 b8

151. Question: ) 3 FIIERT oS "FRPTNF I PORNF TR T =-m-

A) TR I@
B) feTe@d saed



C) $»¢q M@ o3t A
D) eI¥ MNf=F I&

Answer: A) TR I&

Explanation: FI@EA™ Afb© TRAT NRIFII 2 TP (5908) | AT TASIFT 9GS N RAGS
AT g1 @l A 5 [ ST SATT RIS NI So7 JHI e S AT TR
AN (T (FRA-AAS TSIl EHIHT, I PN ST 23 FIF 9fere ©f et
ToFFR MEHT 8 H; ATeNR fofel A FRPTT IERN | S35z IRATHEZT

152. Question: ) 1A% JJ%] ST 5% (FH6?

A) T2 B3I TG
B) @99 ¥3

C) Z1 38

D) SF e

Answer: D) S5 S

Explanation: "SI& JTo SIS AT (773 (A7 JH] A Ses (16 S | ‘St
e 00 (T ARSI Ty FRAFRA | SHATHELS SR THH F51S 3 AT Fol(o 54 |
T - AAEH TETO - (TP - SAETNBE@I MITI ST - S Fo18 511 3 IS sifo= 777 (1
T 92 ST | STAIE T AFCN TE (TTASE ] AFITSEH 2620 (W1 IF 936 AT
(F9 FE | FAET T T e SAFAF, FAG] ITSHNE I | Hd TS FNET|
SANITE TREH JE Sfer - fP7 To@a 936 M7 47777, T "CARIS , Y 57,
ElEERIEGH b B R GRS BT CY

153. Question: ) FANTIN SFEF "‘Me1afr F1F FF1¥ 6 T F6 T@?

A) 559
B) 5%
C) oM
D) 350

Answer: B) 4245

Explanation: fte1afe a3y SIER v¢a fb T 8 A i@ | - TASfeT s01 3 Spod S
Af6® 932 Savo T THFNE FF1H o |

154. Question: ) 'S M6 FAOH (TIF (F?



A) I ST
B) QI T W
C) AT t&wer

D) *MeiSa [z
Answer: B) SI=jT S 5734
Explanation: ST F13e TSI Selres T FF THF RN | fofe aFee Fsifas Hf feeer |

155. Question: ) "SXEAfTET" --a7 1 F1?

A) @FE SX19E, AT (FA(6 a3

B) (@16 GIAF, IE (FA(6 77
C) (TG SILEST, AT (F6 7%
D) F@fG EIAT, AT (FEA6 97

Answer: C) (b 5AHES, IF (FA(6 a7

Explanation: STaa 3 a1 27 ‘SABARIPTT | - TRAT AFSRNT TR TRTT ASH AT
HE 37 ACIAT & ANCIANT; AN 3 TEAF| - (F R A A [T I 2= (F(G AT,
A (FA6 AAEINT aff (@ 9% 1 (@ 577 Moo F57 Fa1 @=|

156. Question: ) '(STES [T6T FIT (F1F HeN(0F FIRIT JATATE (FTAT?

INRGEEES

B) (A& 2o
C) (RIS ¥
D) aTEfsf

Answer: B) (J1% ¥2531d

Explanation: T §0(F THT6T 8 ANE STT FINRAT AIIFE AMbw TReRR AN TfRST| - 1Y TfRerd
ST B CTY HIGAR| - I A© FIRTF (STFF fFoF'| T2 IRAT S 8 TifRes &y, ©. Gifa
CTF |

157. Question: ) & WAl Sy (F25T®-

A) TS 838
B) W A1
C) afw fafafar
D) I (5T



Answer: A) TN 8F

Explanation: T&S5ie/ A5G T6a] FE {76 @ - IHTTW 7 |

158. Question: ) "ENFF BT IS TofT©T1 (F?

A) %% ™
B) (X1 21f%s
C) ST (b1
D) o1 ST

Answer: B) (7T 21%81

Explanation: 2 S& (5589-3008) IRATWCTA T JTIEET 933 I2NMaF (13F

159. Question: ) 'Custom’ & AFTSRT (FH6 ITN7?

A) I3

B) TG
C)B%

D) =7

Answer: A) 9139

Explanation: Custom *&a T3 MfFe¥F o 737, srey, Tfed Afeaifs|1 Customs <& a1y
Bg o1 IS act 97 AT A3, duty 95 TS SF|

160. Question: ) FTST TEFT IHAR OIF PO "FIAIRIG - (F HIT FEH (77

A) FTHEST ¥ [T foaterey 0T

B) 3TCIR SeFTod FEMET I

C) =Tbla IR @Rt feeed I

D) =ofere & 8 eH1R-fAES fowers I

Answer: D) 5fe &f 8 RE 13- a1 e T (D)

Explanation: FT8 o2+l 3eTS ©F T FIAOI foTa- “(FIT (G5, Sl ST[w, (FTT 1]
TRIG?” AT B FTI ARG (F TofeTe 43 8 FE-[AEI e I [T SR |



161. Question: ) '=asT AT (SIM* -a fFATTS Fof Y (FF SHFETI?

A) LT g

B) IIGeT ‘(G JIfer
C) eI (TSNS
D) IfEAECUT 'FATHST

Answer: A) 3EN5rUd TS

Explanation: IR NIRST ¥ (ARIGF STHH FHTFSIA | - a6 TFI0 27 S v JIET| 93
SATOIT (FAIT 5T TIFNE 8 FAAFSAT| 92 SHOIS 2470 Bf: - =& fir 3 Tz
FATPST] FIFHA JCT| - O S, ©TR IfETHT MY T A1 33T (FeA?" - "IV folfIAT (577 1" T3 37:
TR ST 8 SRS fEeRI, T. (N CTHT 8 FHTFSAN SHAT |

162. Question: ) "MeST NF ©f& AR (T TF[F J@ " -F1F TfE?

A) FTE TP IR

B) 2R (RIGTA AN
C) FwaN SIFE

D) F T IETS @R

Answer: C) aﬁiwarérma?

Explanation: 7 SRE% RICTES AROE ST 535 (@ Weo R IRE SfE A2 (7 0T J@|'
S @83 ™|

163. Question: ) T (TN IATHRA LR AITARTT?

A) BoIF I

B) faSiT 8 goiF I

C) = 3 frety Iof

D) f&eix 3 ¥ 3

Answer: B) G678 ﬁ?ﬁl"f

Explanation: (¥ $fel SHIACE S3F 0 (OE (IF 2@ I1F, ISR 5157 (I N O NI -

JET| - (T 3T 3 8% R 7= 21T RN TU- (%, F), (T, ), (5, B), (¥, &), (¥, ©) 9% 'T Ty
T3N: RAT SAF FIFF, FIH-TT (T, O e 33

164. Question: ) 'FUFIT" 46 (FF SATSEN s1fde?



A) FTEIG 93

B) fAwfir SorsTsfemsT
C) F© TSI
D) (wf3r SosTsfesr

Answer: C) SRF® ST

Explanation: - % So5s(5 (wiA/aRar Tomisf| - aff e ol wEe, Fneg 43 $9 & 1930
A TR IRAT SF HIFIA, TIA-T (T, T ¢ 90

165. Question: ) YETHF 9F Fal AR FaIFF3 A Q] ST FHT T (F1H =4 ?

A) a3
B) ISHAYS
C) o
D) ¥943

Answer: A) N3

Explanation: I998 % &S (JSTH {7 0T I S @) 8 I@FT ToIR 9F H[al 39 I |

166. Question: ) f[9Ea @F&0 T87?

A) e - SRR
B) o~y - vy

C) fqosnst - s>t
D) (w13t - famrat

Answer: C) fqosst - =3t
Explanation: fami : (o) Sroany F@f ase; a=@ne | aame st 1=t asw| o2 5o
fse =<7 2@ (WA - AT T3N: IRAT AFTGH ATSH

167. Question: ) 'SET JRFIF INF THWEI AT 1?2

A)Wﬂ
B) (v fa

C) STSHAIFTS WY
D) S Eae urT

Answer: A) @3 5



Explanation: @ a6 o3 S FeFT0] (@ T 27| - IEE s T AETEsT
G| - 9% AP (F°4 FE Fod MRITF I97 (ofF T@®T 938 FEIT I NE AT 9350 JEF R
2| S ARG

168. Question: ) "SfY 4 FAT, 2 T, ¥ HFTol FRF bITOH 0F fo=fey| |'- FFTANRF a S
'fafar It s 9T T@®R?

A) IS S
B) Somard aif
C) e s
D) syow a1

Answer: A) 3mSR
Explanation: fawfa, fagfa - [faeifa, fagfa] (femr): o - o, fa@we (3w a7 foR fowfer 712 &3 sw2ma

T ©ET-T. 2% MRGEAR) | TRGTS A6 - FeY; TMFeT; ToTRI; (TN 2oy a3 Trqzo 27| 3
TREAT AFTCEH SAfSHN

169. Question: ) "5 TR (MFF %o, AT TFho FEve MEe @MFF 431 '- (F IJETw=A?

A) FTST ST S0

B) 3 g faat

C) == (1At

D) (TSTEA (I (ST

Answer: B) FIFSSTE fa@at

Explanation: (TETEA XI0TT (B14ST bIF1F I(@d S Aeae@d S k3% fewa | - o1 e
SRFHE- ST FAT| 'REeF FAT I 270 O - - "I I (F3 WS 47, AMAFS 1, - "5of
TN (M@ o, AT FeFho e Mo @ 531

170. Question: ) @ IFHG BF?

A) ST TR IS |

B) (Tfuey (@ fSfer (Tamer =g I3 |
C) (oW “FAIFToToIT A [T |

D) ©1F 3T B AN ArsA1fFe 2|

Answer: C) (SRR SFAIFTeROF SN 5|



Explanation: “ST/F F] S AN AFGRIES T 1" IIF0 BF | AN IEHI SHHT: - Ao
TG NS | - OIF ST FTeIToIT A To| - ST (TAe (AF AT CTAM I AT| B3
S-S, T. RIS TR

171. Question: ) Ode F?

A) CTIFSfIeT
B) a1y

C) 43 FfeT
D) (FIASSI

Answer: C) 23 $fJel

Explanation: Ode: - FAOIHCH (SNATFRT); - NHHT AfIR0 =Ew 76w 3 IS A|oio TFTH
92 FfIST R @A [JCTH G671 1 IFF ARNIIOF FE | - (PR FNE@S W Hw; FwH,
(FfFeR) IIF| TST: TRAT IFNGA ATSHTT |

172. Question: ) 3P S 212 Af6© LRI RITF T A FI?

A) A LRI

B) Sz I1:eT sRfevfesrey

C) sRfafeaiea F7

D) sRfafIeere 8 IR tRivTes

Answer: B) Sy 1 sRf{FSare

Explanation: 3277 ST 212 Afb© 7% - MRSy 8 WeFho (5>¢8), - AETe 5E Te T (svew), -
(G 8 FAITOT ST (52ED), - BT 8 FIRSY (5D Yo), - RATR 3 IRAT tRfAeT (b>U8) Tofe
5% ToA] FEA| B3N IRAIGN

173. Question: ) (FEG "ARI'T TNF < 97?2

A) TTF

B) af%

C) ZorT

D) srgfere

Answer: B) 3%

Explanation: SIf'-g SSR@ <141 2T - NS, - TS, - (FI4F, - 7L3f6, - 2orM, - 3fF, - S6d gofe |



174. Question: ) (FF IFH0 BF?

A) Achivement
B) Acheivment
C) Acheivement
D) Achievement

Answer: D) Achievement
Explanation: Achievement (noun): Meaning - A thing done successfully with effort, skill, or

courage. IR - I, f¥ife; oS |

175. Question: ) o1 : fFe : : S[afere :?

A) sifafve
B) faffe

C) sf¥te
D) ssifd®

Answer: A) Sjfafme

Explanation: 3T (fF0m): SIens; fFaer; er; Gifg1 sjafere (RomeD): gafde; wfewe| Sesf: aren
AFNGH ATSHT |

176. Question: ) If LOYAL is coded as 'JOWAJ', then PRONE is coded as ----

A) QRPNF

B) NRMND

C) ORNMG

D) NRMNC

Answer: B) NRMND

Explanation: LOYAL—JOWAJ; 276 fGeiF 8 5@ (OA) Fof aF2| - a=TST I Iof ST I 95
el T I AR - BR WS T8 7@ PRONE—NRMNC |

177. Question: ) 10% IN%IT 3000 BT 932 8% A 2000 BT AT FET (NG IS S
ST ToFA] F© 2AE FAT1 3T INI?

A) 9%



B) 8.2%
C) 8%
D) 9.2%

Answer: C) 8%
Explanation: 0% T JA1%] = o000 X $x S0/500 = Woo BIFT % M JAHT = 000 X § X ¥/S00

= S0 BIFT S[eFR (TG JATHT = woo + Sbo = 8Yo BIFT (Wooo + 3000 ) = ¢ooo BIF] AT ¢ooo
BIFTT S0 2T 8b0 BIFT S BIFTH ST1 T 8bo/Gooo BIFT boo BIFIT S0 2 (8boxvo0)/Gooo BIFT = 2.3%

178. Question: ) 100 51FT 10 G f&F fF 100 517 8 G foF TFT T TOF M© F© 7?2

A) 16%
B) 20%
C) 28%
D) 25%

Answer: B) 20%

Explanation: s & fEoE T390 So B1F1 s 6 fEoa fTmm3yes 2¢/2 5137 S 6 ST e 23 = 3¢/2 -So =
2.¢ BT Soo G fOT 7Te 2 3¢ BT 1097 e = 3¢%

179. Question: ) 2 33 I8 936 T, WFFTEF I RANITF T 54 o 771 RkF fod
(ST 12 JE =AM Fo?

A) 57
B) 75
C)93
D) 39

Answer: A) 57

Explanation: & 9% THIT 9% = x 932 TIF THT AT = y .". WG = Soy+x IFTT T A6
FACET T AT T = Sox + y TAA(G, Soy+X+E8 = SoxX +y DX - DY = ¢8 =>D(X-y) = ¢8 .. X -y
SUA]/X+Y =N A, X =V X =D ARy =0 .. RAM=v0 x 0 + > =wy

180. Question: ) 935 ST YT MR SFF 10 932 6-0 =46 52 T 15-0 TH{b--
A) 140

B) 150
C) 148



D) 142

Answer: B) 150

Explanation: 3§ M a 3 NIFHT @I d T, nwl Tm=a+(n-1)d.. 69y m=a+(n-1)d =
52=a+(6-1)10=a=52-50."a=2.. 1691 m=2+(15-1)10=2 + 140 = 142

181. Question: ) AFf6 STEA T HE DO Tf6 20 932 TV (6-B%) 4> 160 XCT S Tfomnmn-
A)8

B) 10

C)12

D)5

Answer: B) 10

Explanation: ar2 = 20 ..... (1) ar5=160 ...... (2) (2) divided by (1) r3 =8 r =2 So, from (1) we
get,a(2)2=204a=20a=5

182. Question: ) 17 G, 15 (LR, 8 C1.A 3= R gt 2@ ----

A) SRTE

B) SN{GaR

C) Tt

D) STt

Answer: B) T9&a1g

Explanation: S fAgsa (W@, G + 732 = AfogS? A3TE, b3 + 503 = 593

183. Question: ) 13 (I3 e AR Jro7 A6 S 97 WEfy 24 (I X (F74 (¥F T& O 97 7T
vRY Fo (If?

A) 3
B) 4
C)6
D)5

Answer: B) 4

Explanation: WWWW& GQ& 6] afbg& (3Ceq TITE) = S AT g&r CEEINERSY



L T (G (A ST A7 GFF) = V(SR - 333) = R = ¢

184. Question: ) 10 & A 7y 2 6 9% TT6IT A FFSEN for fou s D Bfasser @
sfear@ 5 & 9w Fo T91E IR F41 IF?

A) 170
B) 192
C) 190
D) 182

Answer: B) 192
Explanation: 2fG 953 S7e1¥ f&fasT 9% 9@ /=R Fa7 I¥ 8C3 O, W 26 aF Seiy &

TSI (A6 & 27 9f6 | O« =R FAT I1F 9C5 TNF| .. (N6 IR F4T I¥ = 8C3 + 9C5 =
56+126 = 182 T |

185. Question: ) (STH (IT A (ITI® (I A | (T TSI Y ST SASTATH ST fo2eT | gt
A A I I, FES RAC =T oA TAME FIETA | 94 IAA L (FIA 2

A) wfsger
B) sif¥&a
C) Tad
D) =

Answer: C) &3

Explanation: (ST (I 51 (FTT® (I TAA | (IF ST ST ST SN S o2 | ST
Sstfel 5 e 3 I ey | g s arstfel I gaer ox1s arsify Sed o 33 Famers |
AFTF AT ST HIET 1S ST & o A1 3[Y AT | O A 33 924 JJfo
A=

186. Question: ) 956 (NBT 8 AFT6 B TS F-UROH I 972 ACTF Yo FLF FIOENEH
fSOE T STSIFeIT MFT FANS b2 (FTAM ToE?

A) (BT TS SRS (I FH X
B) f65w 2MeTd SROAE (AA1H aAT® TF
C) (FTEN6R 7%

D) 7fo@ 938 AFA1F FAT® @

Answer: C) (IR a4



Explanation: 5% sN3(G g S6x (WA SR | IO AR T3 19 JA0 T | =M (w31 &Ea "
F 97T IICT TN SRO[FS 5912 A |

187. Question: ) ¢-99 $© TORY 9 3F ?

A) 8o

B) Sx¢

C) 0

D) 580

Answer: B) Sx¢

Explanation: ¢ 45 x%= 9 => ¢ % (X/500)= 9 => X = 900 => X = Q00/¢ => X = S80

188. Question: ) 0.8 X 0.03 X 0.0 =?
A) 0.48

B) 0.048

C) v.80

D) 0.0c00b8

Answer: B) 0.048

Explanation: 0.8 X 0.0x X 0.0 = 0.000b8

189. Question: ) (FT@T (AFIF @ 56T BTG 3, (FIT HITF FA© 1A -

A) 1 et
B) ST
C) o1 s
D) e

Answer: B) ST (In front)

Explanation: (FTE (@11 @ 5feTe SIS 36, PRER 91+ (3@ (&7 TI2F FI(© 27|

190. Question: ) 00> NEF b ABFG VFIF 2| P IRET S AT & 19 |

INESEIG]
B) Ifaara



C) BFaF

D) ™fedF
Answer: B) <fea1g

Explanation: st 0T I1fF AME = @ e (NHTF W07 = wo o ATIT AT = & oy 1% (3116 forey
RAT = w8 e 937 ©8 B ey Froifedd 2E|

191. Question: ) (FTET @ BT I 0% FE, ©F TF JGF (Fa%d 30 % IFNE?

A) S0%
B) 0%
C) 80%
D) w4 %

Answer: B) 20%

Explanation: 813, 3@a T = r 93, (Fa%e = r2 35 455 | HNE 20% FC1=r-r 97 20% =
0.8r 933 IR (Fa%e = 1 (0.8r)2 = 0.641r2 I5f 9FF (Fa%el FAE = 1r2-0.641r2 = 0.36mr2 I5f
9% (Fa%e FAE TF = 0.36 X 100 = 36% 616 T&ho: [- 20 - 20 + (20X20)/100]% = - 36% SJOIR
BT (FaHT 0 L% Z &

192. Question: ) 9%f6 T (FFMAE A% 7204 FEF AF8 (B (77 3 9P (ST (7% & F1F @
I8 [?

A) (6@ (@31 feF

B) (FIAIG2 91X

C) TS S F8 T
D) & (@37 /e

Answer: B) (FI@I6R 97

Explanation: 5T (FFET 83 5 Sqg® 23T (FTEE (571 ACTHT (6 (37T 72|

193. Question: ) 261 & 3 foa SRR &S 1/3 :1/5 :1/9 IYA(® ST FEF T TAH ©IR Foib AR
ME?

A) 45

B) 81

C) 90
D) 135



Answer: B) 81

Explanation: SII% 31T o™ = 1/3 : 1/5:1/9 = 15: 9 : 5 [T TH(P 45 T1H1 39 IH] =
TS @S 29. TSAF, TYN B2 N, = 261x15/29 = 135.

194. Question: ) x2- 3x + 1 = 0 (7 (x2 - 1/x2) A7 q F9?

A) 53

B) 65

C) 45

D) 35

Answer: C) 415

Explanation: x2 - 3x+1 =0 .. x + 1/x = 3 a3 x - 1/x = V5 93, x2 - 1/x2 = (x + 1/x) (x - 1/x) =
3V5

195. Question: ) x2 - 5x+6 < 0 X(-

A)x<3

B)-3<x<-2

C)yx<2

D)2<x<3

Answer: A)x <3

Explanation: x2 - 5x + 6<0 = (x-3)(x-2)<0 (x - 3)(X - 2) 97 (T (F|F IFHT A AMHF 2T ITFe! 6
oY A | X<2 A2 x>3 97 (F@ (X-3)(x-2) 97 N HAHF 2T A% 2<x<3 a7 (F@ (x-3)(x-2) 95
YT 271 .. ﬁ'(‘]‘{l’?;lﬂﬂ\r-)l =2<x<3

196. Question: ) logx(3/2) = -1/2 (T, x a7 J-
A) (%)

B) 9/4

C) V(3/2)

D) 4/9

Answer: A) V(%)

Explanation: logx(3/2) = -1/2 a1, x-(1/2) = 3/2 A1, 1/"x = 3/2 a7, \x = 2/3 .". x = 4/9



197. Question: ) A6 ATCEHET FF WHT 15 fil. 972 777 10 f3l. [T ATOWET (Fa%T Fo
BRIRIOEK

A) 35v5
B) 405
C) 4575
D) 505

Answer: B) 40V5

Explanation: &f3, SI¥ea ABCD a7 FfF Wy 15 fi. a3 7% 10 far. .°. 5, BC = V(152 - 102)
fit. =125 fi. = 5v5 TS @ET (F@F Fa%d = 515 X 10 = 50v5

198. Question: ) A = {x|x ¥aTe/@ T AT 93 x2<25}, B = {x|x (N1 727 932 x2<25}, C =
{x|x N 5Jef {2277 97 x2=25}, 2, ANBNC =?

A){1,2,3,4}

B) {2,3,4}

C){2,3,4,5}

D)o

Answer: D) 2 (Empty set)

Explanation: ﬂ'\é@w, A={1234}B={23}aRC={5}.. ANBNC =2
199. Question: ) A3fG ¥fete 6 & FieT 3, 8 6 ST 7 A= 10 6 FEN I AR WIS AF6 J
QeI (ST ST oY 29 STETH] F97?

A) 1/4

B) 1/3

C)3/4

D) 2/3

Answer: B) 1/3

Explanation: {41 379 AT = 8/(6+8+10) = 1/3 HW J1 RSFF NI[{AT=1-1/3 = 2/3

200. Question: ) 726 F@A W& FIF WAMG Fo 2@? -> 64.PNG



A) LG
B) vy
C)x9
D)

Answer: B) ©b

Explanation: S5 f6@, b5/ =5 @u/A=% - =5 PeIA fb@, 0u/» =83 =w 8- v =\ fFSIF
f5r, wb/o = 333D =9v " v -w =5



